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Instructions to Candidates:

'.d'

1)  Auempt ALL Sections according to Internal Choice
2) Show working notes whercver necessary

SECTION - A
bt 3 | P
Answer any TEN afthe following (10x2=20)
denngned Semo T wvILAO.
What is debt cqui;}‘ ratio ?
MY AT, WeadmmeD umTd ocole®?
What is meant by outflow of the cash ?

=nOT TRTTLP Souoe?

. Mention any two uses of fund-flow analysis.

eRuyd LZ:Irod QRPTECD ot MWESH#m_t 39A0.

Fixed Asscts Rs. 4,00,000 working capital Rs 2,00,000 cost of goods sold Rs 20.00,000,
Gross profit Rs 4,00,000 Calculate Capital tum over ratio.

3: eie ©2.4.00,000 i Lo 4R 200,000 IRCRD XORNY Maw
de.20.00.000 =30 wig dx. 400,000 wedmy dwrd LHIRITD, 51 Y
A0,
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Define Management Accounting ?

NFTR dl!‘saﬁﬁ mﬂmﬁanm.! irQn.

6.  Whatis liquid ratio ? Give example.
Imh TOSRnD ¢RTISOTCRT? WmITE drap,
7. Mention four functions of management Accounting,
AIFXrE CYZRD Tty BRODFIVED, wdet,
8.  Mention important four features of a goad report
I JoDoH WY DIIYT CIENVD, TLROK0,
9.  Whatare non-Operating expenses?
RChFIROHnys Iy vodd am
10. What is management reporting?
dFrEe Ic0DHDE SoudeDd?
11.  What is meant by inflow of the cash ?
orod LY I0R ooud w39
12. Whatis Ratio?
TERe ooud?
SECTION-B
AR - D
Answer any Three of lhc following (3x5=15)
enIgned demo :‘:b.rzdi‘ tm.'-;t_m..o.
13. Determine the sales from the following current liabilities Rs 6,00,000 Current ratio-2
liquid ratio -1.5 Inventory lumover ratio-6 times.
& 8J¥od SRb3INTOT IRCUIW, AGFOH wod), BRI ©2.6.00,000 =9,
DRI -2, OHB BDTI-15 Do dbrord eRERd-6 RO,
14. Calculatc debtor tumover ratio from the following
Tgu! sales ~4,75,000; Cash sales 55000
Debtors as on 1-1-2019 Rs 25.000
Debtors as on 31-12-2019 Rs 35,000
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UMy .!:1:.-<:r;!a‘:':;134 goy LA,

s Aol 4,.75.000; Ao ko 55,000
~ {

woosd momo |=1-2019 0w.25,000

TEFoIY mMUmoD 3-12-2019 dL.35.000

15,  From the following information calculate
. Operating cash prufit
2. Cash from operating activitics
Particulars J1-12-2018
P&L A/c (credit) balance 1,20,000
Debiors 60,000
BR 60,000
Prepaid expenscs 9.000
Good will 60,000
Depreciation _ 96.000
Creditors 60,000
& 00T SmLAnecT d!% =00,
L S=xmo nducrnees o =g
2. I3 RoMoRRCoT S ¢ IRAD.
oo 31-12-2018
xRy | =D TRd(nd) by 1,20,000
.t lanlafs 60,000
WOERT Xoar 60,000
axcnz dzg;wo 9.000
AT DI qbu"f)ﬂ 60,000
ey 96,000
RDDROT: 60,000
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31-12-2019
1.40,000
78,000
36,000
11,400
56000
1,20,000
90,000

31-12-2019
1,40,000
78.000
36,000
 1L400
56,000
1,20,000
90,000
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16.  Ntate any four dillerences hiaw nanagement accounting & ¥ inancial accounting.

AT o ) CIWI Tetn T VgWEALT T SIFTAAVED, W

&
17. Explain the principles of a good reporting system.
NI IS0 IFoD AFAGH, LFOLO,
SECTION-C
RN - %
Answerany Three of the following
BUARINVY demd HRcd LoIdRO.
18. Following are the particulars of Harshit Co, Ltd prepare B/s.
Gross Profit (20% of sales) - Rs. 1,20,000
Credit Sales 10 total Sales - 80%
Total assets tumover (on Sales)-3 times
Closing Stock tumnover (to cost of Sales)-8 times
Average collection period (For 360 days)-18 days
Current ratio- 1.6 :1
Long-term debt to equity-40%
Balance sheet
Liabilities Amount Asscts Amount
Share Capilal 1.00,000 Fixcd Asscts | ?
Long-term Debt ? Stock ?
- Creditors | ? Debtors ?
Cash ?
T
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TAFT 0TD RSN B 4VAG SRBICNT, eqon wad Jdoni, Fomonp,

AL T (SRTIUS 208) O%. 120,000
Cra vy oo LK Al ot 11w BT Smenk. BT LY

S TWMRD ILTMR(IDTUS DRY ::g',)-x (T

IR (360 ORAVANIR DFAWw o TR -1.6:
0 =

L

S ons gxs. ST an.
I neFmy 1,00,000 MO ?
Qemran o ? X ?
m&u‘a:.‘.m . ? [eed ?
D7les) ?
? ?
19, Balance Sheet as on 1-1.2019 and 31-12-2019 is as follows
Liabilities 1-1-2019  31-12-2019 Assels 1-1-2019  31-12-2019
Capital 2.00.,000  2,60,000 Buildings 50,000 1,00,000
Long term loan 50,000 60,000 Plant 40,000 60.000
Creditors 50,000 80,000 Machinery 110,000 1.20.000
Stock 40,000 60.000
Debtors 50,000 55.000
Cash 10.000 S000
400,000  4.00.000 400,000 4.00.000
Additional information:
I.  During the year maghine costing Rs. 20,000 (Accumulated depreciation Rs. 6000)
was sold for Rs-12,000 r
2. Provision for depreciation on nichinery as on 1-1-2019 was Rs. 28000 & on 31-12-2019
was Rs 45000 '
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AN PYT asin

[ w1y

IR T 100 Tmas ) g2-200 wIC3
TAATOHID 1-1-2019 31.12.3019 weniee

Léasy

2.00,000)

2.60,000 STV

Net profit diming the yearwas Ry R 00 yant are sequire fo peeparnc cush low statement

1-1-2019 M-12-2019

SO.000 100000

SITFID WY $0,000 000 Ty S0 40,000 60,000
TILHIW® $0,000 R0,000 oxcZrivy 110,000 1.20.000
o i 40,000 60,000
m:.:rr:sc: 50.000 55.000
g fas 10,000 5000
, 500,000  4,00,000 3.00,000  4,00,000.

Lt St

L 2019 39 ©R.20,000 VD Ldod choIVRS, 0e.12.0008 Smow

SRacThd. (3003 XJEe dz.6,000)

cacdnezEcrony e IA00AT XTEE 1-1-2019 BR.28.000 T=rin
31-12-2019 Semd WRA45,000 <  https://www.karnatakastudy.com
2019 23I% =g o, 80,000 end.

T wnth wod 8 IcROND.

3.

20.  From the following information relating to Shubhank Ltd. Compulc
(a) Current ratio
(b) Liquid ratio
(c) Gross profit ratio
(d) Operating cost ratio
(¢) Net profit mtio
S1och 50.000 Creditors 60.000
Dehtors 40,000 Bills payable 40,000
e bblls Receivable 10.000 Net Sales 7.00,000
T Advamed 4000 Rank OD C o s000
Cadh 30,000 Gross profi 50,000
Net Profit 30,000
CVIS-342 A-20
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LFRCICIT IRLICD INC LY M WAIDRYD © ==p
(a) ..__'.'_',‘ AT | s
(b 213 wrnmma
(v =Ry |mO eed
() T LTS emmd
(¢) LIV ©IF ¢mm3
by $0,000 LImom 60,000
TWUTRTT 40,000 8aazd mco 40,000
:_:'_"SgI Tocanss 10,000 L.Lli el 700,000
Aary e 4000 L0in Ani3Fe my 4000
mA 30.000 LAY wor 50.000
ATV @p 30.000 -
21, The B'sofJeeviha Ld. as at 31 march 2018 & 2019 arc given below,
Balance Sheet
Liabilities 2018 2009 Asscts 2018 2019
SC 2,00.000 3.00,000 P&EM 2,60.000 320.000
SPremium — 10,000 less: Deprecialion 85000 95,000
CReserve (Profit _ 1000 1,75.000 225,000
on redemption of — BuildingarCost  1,50,000  2,30.000
debentures)
PELA chid 40,000 40,000 Sharesin
Profit for the year _ 45000 Subsidiary Co. - 20,000 20,000
5% Debenture 1.00,000 75.000  Stock 45.000 19000
S. Creditors 60.000G  1,04,000 S. Debtors 15.000 18000
Provision for Tax 20.000 5,000 Bank 25000 48,000
Proposcd
Dividend 10.000 10,000
430,000 5.,90,000 4,130,000  5,90,000
Additional information :
1.~ Plant Costing Rs. 15.000 (accumulated depreciation there on Rs 8000) was sold
for Rs. SO0 during the year you are required to :
1) Findom Fund from Operation
) __ Prepare Schedule of Changes in working Capital
ili)  Prepare fund floss statement.
iv)  Show necessary warkings.
CVIS-M2 A-20 (7
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2eLw DADLT BRAMOIME Lk eniv A2y N-1-2018 =L 2019 codied
o fonmodd.

und Jae
Lartmoine 0 29 AR 2018 219
dedn wsamv 200,000 3.00.000 dav cdoday
fon modd ] Tiim 2.60.000 320.000
230 SRBUOCY — 10000 %3¢ 203 85,000 23.000
LoamY Sz - 1,000 175000 225000
(T IHIC D
2= =33 DY
Rt nan® 1.50,000  2.30,000
(@ay £3)

ST ™ =3 5% 40000 40000 wop TeRred
nY IS =y — 45000 deane 20000 20,000
Sty syie 1.00.000 75,000 = 45.000 49,000
nina 60.000 1.04.000 il Jerty o 15.000 18,000
i Movaay 20,000 5,000 =T 25,000 48,000
TRd TU52038 10000 10,000 : '

130000 590,000 430000 590000

2 SRl

S2.15000 =39 B22on cnods el

ar

5 (0T ed €a0n xde
C2.8.000)05.5.0004 S%oel soaisend, "

) DRG0 MnINess A tomkaatm

i) 00T LoumYdY Lowa )

i) 20 ol

iv) =233 Doy Ag3 Inedxtyeh
_..22. Explain the advantages and disadvamages of Management Accounting,

L;‘mrxm :!q.z?.r;ﬂ ulszonw a:ag sm&ammvm_‘ QTOLY.
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